THE LINALCO PROBLEM 
Background Information
The LINALCO Aluminum processing company is a small aluminum smelter that has just been acquired by Brenwich, a large holding company.  The facility has six different banks of electrolysis chambers, commonly known as "pots".  Each of the six pot lines can be operated independently or they may or all be operated together depending on the market and demand for aluminum. The company is an older facility.  Brenwich is looking at closing the facility and selling off its assets.  Closing the plant would cause a lot of people to lose their jobs.
For some time now the company has been operating at a loss, much to the concern to the concern of Brenwich Co and the current management of LINALCO.  In addition LINALCO has been questions in the past about some of its environmental policies.  The company will need to demonstrate that it has met all of the environmental requirements as outlined in it permits it if is to remain open.  Some upgrades of the facility will have to occur if the facility is to remain open.
 
The task
Run the simulator using the HyperCard stack on the assigned computer in the laboratory.  Gather data for as many different scenarios as you can.   Using the default settings on the screen.  Then vary the current and voltage up and down to assess the impact of each variable on the quantity of aluminum produced. 
In a real world most production is tied to costs.  Click on profits and costs and look at the cost data
1. Using the current cost data, what current and voltage should the plant use to maximize production and keep costs down? 
2. How many hours per day should each line run and how man cells should be kept on line? 
3. What would happen to the company's profitability if any one of the following were to occur?  Advise Mr. James and LINALCO for each of the following:
(a)     The cost of alumina increases by 20%.
(b)     Wholesale power costs increase by 25%.
(c)     Overhead is doubled to pay for some required upgrades to meet environmental requirements.
(d)     The market price of aluminum drops by 20%.  
4. How far can the aluminum price drop before the plant will begin operating at a loss?
